= AH O
M = 0l &8 AF 2 ZH A A
20138 & 20l A LGN 2stdlsd ~ 2ol
2N 250
M 54 250=0 3MH 25
o IS (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
2350z 65,534,333 61,575,602 3,958,731
= 24,067,870
z 10,095,000
p) 3,672,574
= 4,066,615
< 23,632,274
sSY 2siol=2l Z¥HE 23 23,475,670 20,369,550 3,106, 120
= 1,852,050
z 5,903,000
J| 2,184,300
2 208,000
< 13,328,320
Xer25are 2,289,194 2,996,194 A707,000
NEE2S3 AIEESESI A 402,250 392,250 10,000
307 212+01 A 10,000 10,000 0
02 QI2tF A X 10,000 10,000 0
OS2I MNBRAAE NS 10,000
308 XX SHHSOIA 342,250 382,250 40,000
01 X HHBAEXZ 342,250 382,250 240,000
OXNLESSIAANSESAA 245,000
OS2} Z2AIHAISH 50,000
OXNU2SASHEDI S IALA X 47,250
403 RFXISHIS XH2 0l & 50,000 0 50,000
01 X SHHXEEX 50,000 0 50,000
ORI JlsE2Ag 50,000
S30=AMY 29 358,950 985,950 627,000
201 LBt AHH| 22,000 14,000 8,000
01 At22teldl 12,000 14,000 A2,000
OISR AS 29 6,000
Osdesta 29 6,000
03 HAI2HHI 10,000 0 10,000
Osd2Rsa 29 10,000
202 04 Hl 3,000 3,000 0
01 2LHOHI 3,000 3,000 0
O2 g2 3,000
203 ¥ 2=Zd| 38,950 38,950 0
03 AIBH =X Q2= XY 38,950 38,950 0
ORsHsrEgR=A 23,750
O2st=22HNLR=A 11,400
O3 zgR2FA 3,800
307 2I2tol & 20,000 20,000 0




SN 2s0z
y: 54 25050 IWH A5
el X esay EEREED
_ _ HE T
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
02 QI H A2 X 20,000 20,000 0
OZAG: BLAMRNBEUA 20,000
308 AtXICHM S 01 & 200,000 910,000 A710,000
01 X SHBAEES 200,000 910,000 A710,000
o=Rel(e=2)23&010 &4 200,000
403 KX SHIS =01 & 75,000 0 75,000
01 AtXIEH A= 2 X 75,000 0 75,000
OF3AE B 75,000
SEAMESRE 23| 1,377,994 1,377,994 0
306 2013 1,377,99 1,377,994 0
01 &%= 1,377,994 1,377,994 0
OBLAARAPALSY 1,377,994
7 uWESHHEAS 150,000 0 150,000
306 %= 150,000 0 150,000
01 &%= 150,000 0 150,000
OJsRm oes Ty 150,000
ANgols 92 M 12,331,689 9,900,254 2,431,435
= 819,050
& 460,000
Il 2,184,300
= 208,000
& 8,660,339
[H20F ST A KRS 832, 100 832, 100 0
2 416,050
= 416,050
307 21zZtol ™ 832,100 832,100 0
= 416,050
= 416,050
02 Sl2tF a8 832,100 832,100 0
O=224=20F Oi=ZA A& 832,100
= 416,050
= 416,050
EUAZE AL 104,000 104,000 0
] 52,000
< 52,000
307 21zZtol ™ 104,000 104,000 0
Il 52,000
= 52,000
02 gzt atex 104,000 104,000 0
OAEEIZ ALY 104,000
Il 52,000
= 52,000




2N 250 =D
N S Sa0s0 ZHY 23
CHel: Rgolz A4 M2 (erel: @ 2
_ _ pSNE e
SAN-ZH-SA(FA) - NFAY - BES Off &F oK '@Egj Hlw &2
ERIE B E=PL 68,000 68,000 0
= 8,000
= 60,000
308 X+ XI &+ HI S 01 ® 68,000 68,000 0
= 8,000
= 60,000
01 HXSHBAEES 68,000 68,000 0
ORNI543| St=0IHUEEM &t 50,000
= 5,000
= 45,000
ONI208] ®=&AHOIZ0=H 18,000
= 3,000
= 5,000
XNA2s 0= DSUE ALY 300,000 300,000 0
= 150,000
= 150,000
307 212+01 & 300,000 300,000 0
= 150,000
= 150,000
02 BIZHZ AR X 300,000 300,000 0
OZL2s 0 RSNAME X 300,000
= 150,000
= 150,000
&2 ETEAY 30,000 80,000 250,000
308 XHXI A S 0| & 30,000 30,000 0
01 HXSHHBAEES 30,000 30,000 0
OZF2MO0I&H 30,000
MEI23H0E DS A 245,000 245,000 0
= 245,000
308 XHXI A S 0| & 245,000 245,000 0
= 245,000
01 X SHBAEES 245,000 245,000 0
OAMsl2stilznS 245,000
= 245,000
SRS AL 100,000 166,000 266,000
2 100,000
308 Xt XI &+ HI S 01 & 100,000 166,000 66,000
2 100,000
01 HXSHHBARES 100,000 166,000 66,000
ORI NEF TR 100,000
z 100,000
NA2S S S SA 2 447,000 473,000 26,000
307 212+0I & 429,000 395,000 34,000




M 2s0lED
M S B30=2 I3HSA 235
S Ngos 292 M2 (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
02 DIZtEAME X 100,000 0 100,000
OZ0Ig&H 100,000
04 QIZ2FSHALE & 329,000 395,000 66,000
OXd9zZstl=eska 329,000
308 XXX SO0l H 18,000 78,000 260,000
01 AXIEMIAEEZ 18,000 78,000 60,000
O22XNSE Ai&sAA 18,000
ool 23S AIY 270,400 208,000 62,400
= 208,000
== 62,400
308 XXM SO0l H 270,400 208,000 62,400
= 208,000
== 62,400
01 IXIEMBAEEZ 270,400 208,000 62,400
O0PIl==3es 270,400
= 208,000
= 62,400
gos 29 5,719,106 5,343,054 376,052
308 XXX SO0l & 5,719,106 5,343,054 376,052
01 "X SHNBAEEZ 5,719,106 5,343,054 376,052
Osgd=3dasdt 29 1,529,577
Osdunsgadt 29 2,586,529
Osg=3odt 29 1,164,805
Osgdid=2d 29 329,295
O3guss =Xl 108,900
NEEZSUH=HALX R 223,000 30,000 193,000
308 XXM SOl H 223,000 30,000 193,000
01 AIXSHNBAEEZS 223,000 30,000 193,000
OXgzstl=egs K& 220,000
OR3X =20 =H 3,000
ANEZ2SU=HES X 174,000 174,000 0
308 AtXI SISOl A 174,000 174,000 0
01 AIXSHHNBAEEZ 174,000 174,000 0
O3F &ts& mael " 60,000
OHNHAI2=0ITHSH 60,000
FENFR2E=FSUE 54,000
PNRSER=R=—R--PN ! 770,000 500,000 270,000
Dl 520,000
= 250,000
201 B2 H| 10,000 0 10,000
| 10,000




PN 230=1
M By 2s0eo 2MA 23l
Sel XY= 9 Mo (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
01 AR 2t eld| 10,000 0 10,000
OXNEgad SI2AY A= 10,000
Il 10,000
207 A<l 60,000 0 60,000
Il 60,000
01 =4 60,000 0 60,000
OXNdgasd Ay HIHILHY) 60,000
Il 60,000
307 2IZtol 700,000 500,000 200,000
| 450,000
= 250,000
02 QI H A2 X 700,000 500,000 200,000
OXNE 250l =I1 =AY 200,000
Il 100,000
= 100,000
OBgIA4F=HAMSLEXE 400,000
Il 300,000
= 100,000
OdXNgAZZ ISHXIA 100,000
Il 50,000
& 50,000
2t ™AL 1,685,083 1,297,100 387,983
J| 1,532,300
= 152,783
307 PI12+0| & 152,783 162,100 A9,317
02 QItF A8 X 152,783 162,100 AN9,317
Ot JIEAME K& 152,783
308 XXM SO0l 1,532,300 1,135,000 397,300
Il 1,532,300
01 AIXHHMBHEES 1,532,300 1,135,000 397,300
OZ st ™ IHEAS K& 1,532,300
Il 1,532,300
felotet 2elite XA 80,000 80,000 0
| 80,000
308 XX SHHMSOIA 80,000 80,000 0
| 80,000
01 IXNHHBHEXS 80,000 80,000 0
Ot 2el0te X ALY 80,000
J| 80,000
M35 M=ol 1,184,000 0 1,184,000
= 360,000
= 824,000
308 XXM SOIA 500,000 0 500,000
01 IXNHHMBAEES 500,000 0 500,000




SN 2s0z
Hy: s4 25050 IWH A5
Sl Ngos =2 KD (Erol: @2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 O] Ak 4 Sl ko HRE2
O&=E=H = =4l 500,000
403 XX SHHE =01 & 684,000 0 684,000
& 360,000
& 324,000
01 AtXIEH X =22 X 684,000 0 684,000
ORIZUIN ZF ALY 684,000
= 360,000
= 324,000
Hezl sEol=H 100,000 0 100,000
307 2I2toI & 100,000 0 100,000
02 QItF A2 X 100,000 0 100,000
OR63l E=0=H 100,000
S3ANE &5 2 2Z 8,854,787 7,473,102 1,381,685
= 1,033,000
& 5,443,000
& 2,378,787
ZTEAHB AY X 227,500 761,250 533,750
z 130,000
= 97,500
403 XX SIS AH=0[1 & 227,500 761,250 A533,750
= 130,000
= 97,500
01 RtXISM 2L X 227,500 761,250 A533,750
OSHAMBBENZ A 227,500
= 130,000
= 97,500
DTEAB HBAIZL A 723,000 549,268 173,732
2 723,000
308 XX HHMSO0IH 723,000 549,268 173,732
= 723,000
01 IXNHHBESEXS 723,000 549,268 173,732
OZBEAHZ HBAIZ AFX & 723,000
= 723,000
282 24 X& 330,000 331,570 A 1,570
= 260,000
= 70,000
403 XX &M S AH=01& 330,000 331,570 A 1,570
= 260,000
= 70,000
01 RXISH =T 330,000 331,570 A1,570
ONSTHZ =4 X2 330,000
= 260,000
= 70,000
2N 2N 202,000 156,000 46,000




SN RS
M Y =30z 3 et
&t 23Ad 23 & 2Y (ctel: &
SN I SRI(S) - NRAY - B 0fl b Soe B RS2
308 AHXISHMSO0I & 202,000 156,000 46,000
01 IXNHHESNEXZ 202,000 156,000 46,000
Oof2M2 2 X& 202,000
SN2 HE 2 2 X2 129,941 85,884 44,057
307 2IZtol 129,941 85,884 44,057
02 It H A2 X 129,941 85,884 44,057
OsEEUEAZ 23 X& 126,701
OZOMAE M2t AIESALR MR &I 3,240
g2z ¥ 0=z NA 232,000 260, 130 A 28,130
201 Et2Ed| 4,000 6,330 A2,330
01 AtR2tel 4,000 4,000 0
Ol & Ol A58 29+ 4,000
307 212tol 53,000 53,000 0
02 gzt atEx 53,000 53,000 0
OAnggsa 2 Ol 228 X 53,000
308 AtXIEHHM S 01 & 100,000 75,000 25,000
01 HXHHBAEEZ 100,000 75,000 25,000
Otz & Ols& 29 43 N 100,000
403 KX SHHS =01 & 75,000 125,000 A50,000
01 HXHH =2 xR 75,000 125,000 250,000
Oogt2z & Ol=a 2ot BEEALE N 75,000
2E 20 ANSIHTAl BN 2,916,000 3,240,000 324,000
& 2,916,000
403 AtXISH S X201 2,916,000 3,240,000 A 324,000
= 2,916,000
01 AXIEXH A2 2L 2,916,000 3,240,000 A 324,000
O3F, B0 GAMEEAl =24 2,916,000
= 2,916,000
HSANE 43 AtY 50,000 200,000 A 150,000
= 50,000
308 AtXISHMSO0I A 50,000 0 50,000
= 50,000
01 HXHHBAEEXS 50,000 0 50,000
O dSAE E43AE 50,000
= 50,000
Z3AIE DIAIEHE X =2 (BTL) 2,037,000 1,819,000 218,000
= 2,037,000
308 XXM SO0IA 2,037,000 1,819,000 218,000
= 2,037,000
01 AIXNHHEMNEES 2,037,000 1,819,000 218,000




SH: 230z
Hu: Bg 2501£9 FM L5
ool 2SAL HE L 29 (9l & 2
_ _ pSNE e
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Gl o B2
OFQUZE 52 ATAIY BLX22 641,000
3 641,000
OHUSER(SH)TAHT ATAY BLX22 231,000
3 231,000
OLINKSHATXME QATAIY HLX22 808,000
3 808,000
ONE=E 2852 AVAIY BLX22 357,000
3 357,000
WEATA 2EAIL 22 1,700,000 70,000 1,630,000
=l 360,000
= 1,340,000
401 Al HIL 2O HI 1,700,000 70,000 1,630,000
3 360,000
= 1,340,000
01 Al&H] 1,700,000 70,000 1,630,000
TSN AE(EH S) 1,700,000
3 360,000
= 1,340,000
NEA BOE 2l L 2Y 307,346 0 307,346
201 YEr2gy| 50,000 0 50,000
01 At 22|t 30,000 0 30,000
02 222 M, 21 S 30,000
02 222l 20,000 0 20,000
ONEZHISNEI(RUIIH, S8, £3) 20,000
207 & POH L bl 40,000 0 40,000
02 F &f et 40,000 0 40,000
OSHOIX L MIOHAIAE 25 40,000
405 Xt &HE St 217,346 0 217,346
01 LS EH S| 217,346 0 217,346
&I P 197,346
OUE ST 7Y 20,000
2aga0 AN 2= Mz 41,453,303 40,558,572 894,731
= 22,215,820
=l 4,192,000
| 1,488,274
= 3,858,615
= 9,608,504
L2 2E Y HS 689,000 777,360 88,360
LQELH LY P 495,000 506,000 A11,000
308 X+XI €+ HI SO0l & 495,000 506,000 A11,000
01 RS HALRES 495,000 506,000 A11,000
OSSN HSNAS (2K, 1) 400,000




SA: 2502
M 23R40 HAHN BE M
ool REREI PE L M (B9 &2
_ _ SIEN
SA BB H(BH) - MBAY - B2 O A+ 24 il i~ o HRs2
OS2 2MEA S X2 95,000
Kei25t(25HH) O =K e =y 60,000 66,000 6,000
308 XX £HHI S 01 & 60,000 66,000 6,000
01 A SHHBASES 60,000 66,000 6,000
OXN 2SS (S3HH) M=y 60,000
SHSH AELEE 134,000 205,360 AT71,360
307 01240/ & 45,000 45,360 A 360
04 BIFBALR X 45,000 45,360 360
ORE2s 2Z3 S N 45,000
308 XX €I S 01 & 89,000 160,000 AT1,000
01 X SHZAEED 89,000 160,000 A71,000
OYXIIKAl ECt2ld| X 80,000
O A= =0| X 9,000
NE2 2=zl 37,263,585 35,997,550 1,266,035
=2 22,089,717
=l 2,772,000
| 482,764
2 3,858,615
= 8,060,489
HENEELTY 2,871,000 3,000,000 A 129,000
= 1,914,000
= 957,000
403 REXISHHIS XH2 0| & 2,871,000 3,000,000 A 129,000
=2 1,914,000
= 957,000
01 XX St K= 2 & 2,871,000 3,000,000 A 129,000
OFSAESLTY| 1,800,000
=2 1,200,000
= 600,000
OFSAE SMAIAY 2= 1,071,000
= 714,000
= 357,000
NSHENE H4 220,000 214,000 6,000
403 X EHFI S K201 & 220,000 210,000 10,000
01 XX S KH2 B X 220,000 210,000 10,000
ONYHEAZ SLTY| 220,000
2OINH 28 st zel N 20,000 20,000 0
=2 20,000
308 XX EH 7 S 01 & 20,000 20,000 0
= 20,000
01 KIXISHH B A2 XS 20,000 20,000 0
O=It28 M XS 2R ez 20,000




SN 250D
MM 25940 HHUR BE F2
ool NN BEBL CEHE
_ _ _ HEC
2N - FHH..2A(SH) - HIEAMY - BHAS 0] AFOH loﬂ/i\_FOH Hl =2
| = 20,000
T2 EAF| 550,000 1,405,000 A855,000
403 XHXI CHAI S KH= 0| & 550,000 1,405,000 A855,000
01 KSR =YX 550.000 1,405,000 A 855,000
OXIS 25T 4= bl 550,000
z=sUNLE2 FY 425,000 365,000 60,000
403 XX SIS K20 & 425,000 365,000 60,000
01 IR CHTEE X 425,000 365,000 60,000
OE5IAES = 425,000
NEXESET 22HH| 4,095,000 4,095,000 0
= 3,858,615
= 236,385
403 XHXI CHRI S KH= 0| & 4,005,000 4,095,000 0
= 3,858,615
= 236,385
0l ARSI EE X 4,095,000 4,095,000 0
ONEXHSE B2 4,095,000
= 3,858,615
= 236,385
ST T BANH U CRONE 24U 38,000 38,000 0
403 XHXICHRI S KH= 0| & 38,000 38,000 0
01 XS =E X 38,000 38,000 0
OSXESEN HUBE2 U CROXT 8% 38,000
SsNEE 22| A 25,326,229 24,315,000 1,011,229
= 20,076,200
Il 482,764
= 4,767,265
307 212HO| A 636,558 400,000 236,558
Il 482,764
= 153,794
02 DI2tAAR 636,558 400,000 236,558
OSB AAR2IEE AL 636,558
ol 482,764
= 153,794
403 XHXI CHRI S KH=0| & 24,689,671 23,915,000 774 671
= 20,076,200
= 4,613,471
01 XA EEE 24,689,671 23,915,000 774 671
WH A 2SR 1,615,000
= 1,330,000
= 285,000
OZNNHSS BLHY| 15,916,099
= 12,926,200
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SA: 230E
Ha: 2sR49 MAN BE M
ool NNSEN 2= (649l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F OH Ofl At ot Hws2
< 2,989,899
OZJINE SE25 243 480,000
= 320,000
= 160,000
ODEEE ¥ SHAMY(BF.20) 6,678,572
= 5,500,000
= 1,178,572
DK EIH0IYAID| ALY 9,556 63,750 32,806
=2 79,517
= 17,039
403 XSS K20 & 9,556 63,750 32,806
= 79,517
= 17,039
01 XX SHH K= 25X 9,556 63,750 32,806
ODIE =101 AIIALS 9,556
= 79,517
= 17,039
SSHWARE L BUEA 2 28,800 28,800 0
201 LBr2 | 28,800 28,800 0
01 At 22l Hl 28,800 28,800 0
OSsHARS &4 U BXEAN = 28,800
=V EESY 3,583,000 2,340,000 1,248,000
= 2,772,000
= 816,000
403 TSRS XH2 0| & 3,588,000 2,340,000 1,248,000
= 2,772,000
< 816,000
01 XHXI M XH2 2 & 3,588,000 2,340,000 1,248,000
OZMOIE =4 3,588,000
=l 2,772,000
= 816,000
Sz YRFAY| 5,000 5,000 0
202 018 5,000 5,000 0
01 ZLHOI I 5,000 5,000 0
OSsHl XY ¥ a8z S Qfge X1 5,000
Ss9mo HUIHY ¥ 28 1,526,603 1,868, 162 341,559
= %, 103
= 1,420,000
< 10,500
ELUDCARS da2) AN 500,000 750,000 £250,000
3 500,000
403 XSS KH= 0 A 500,000 750,000 250,000
Z 500,000
01 XHXI EH I XHE 2 X 500,000 750,000 250,000
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SN 2sta
HH: 2549 HAHN BE Hs
ool RSN UKL L 28 (sl &
SM-EH . C(BH) - HRAY - B2 0f Ao giﬁgfﬁ HRs2

OE410E GAIZst2E Al 500,000
= 500,000

2ated 2 H3s XA 920,000 1,050,000 A 130,000
= 920,000

403 RHXISHRI S XH 0| H 920,000 1,050,000 130,000
z 920,000

01 X SHX =L E 920,000 1,050,000 130,000
O2BNE HEAAN NISZH X2 450,000
& 450,000
OHdasd |4 &4l 200,000
= 200,000
OEX =082 HE 270,000
= 270,000

2 HEE =AY X 59,500 55,000 4,500
= 49,000
= 10,500

308 AtXICHHM S 01 & 59,500 55,000 4,500
= 49,000
= 10,500

01 AIXNHHBHEES 59,500 55,000 4,500
OMM 23T Al 59,500
= 49,000
= 10,500

MIIAMHIAZ0F SAZRRE 1AH| 22,103 3,162 18,941
= 22,103

308 XHXIEHHI S OI 22,103 3,162 18,941
= 22,103

01 RASHBNSES 22,103 3,162 8,941
OAZIMHIAZO0F SUA2RR2F 2| 22,103
= 22,103

AHAF A BISSHAL THE B HI 25,000 0 25,000
= 25,000

308 AtXIEHM S 01 ™ 25,000 0 25,000
= 25,000

01 IXNEHHEMNEXES 25,000 0 25,000
ORI QIS A THE ZH| 25,000
= 25,000

2B SUTAIL 2= 1,544,115 1,835,500 ~291,385
| 1,005,510
= 538,605

SRLSXIESHM 2AIQ S B XA 587,020 390,000 197,020
Il 494,160
= 92,860

308 AtXIEHM S 01 587,020 390,000 197,020




SN
X XH .
S Tt

el

SHoll = 1t
=M HAN 2&E s

SHH EMAIE 2=

MO MO MO

_ _ _ Muo
SNBSS - MEAY - BES e 2
| 494,160
& 92,860
01 IXNHHBHEES 587,020 390,000 197,020
OZSRL=ZEM ZAlCIE B X 587,020
Il 494,160
& 92,860
SRSXEIMHLTHAIERAEXE 425,000 632,000 207,000
| 350,000
L= 75,000
403 AtXISH S X201 425,000 632,000 A207,000
| 350,000
& 75,000
01 AtXIEH X2 E X 425,000 632,000 A207,000
OS2 $MALERS 425,000
Il 350,000
& 75,000
SXNEEZSM LdHAIE A=A 350,000 300,000 50,000
403 AtXIEH S X201 350,000 300,000 50,000
01 XIS EE 350,000 300,000 50,000
OEXNEZSM LAY 2= 350,000
SRS EsM etztel 29 N 182,095 197,500 A 15,405
Il 161,350
= 20,745
308 AtXIEHM S 01 182,095 197,500 A 15,405
J| 161,350
& 20,745
01 XA EEZ 182,095 197,500 A 15,405
O=RSLI3M dat2tel 89 Jd 2 &
N4 SXi2el 182,095
Il 161,350
& 20,745
MAHS & STHE=XN 430,000 80,000 350,000
= 30,000
L= 400,000
HHSEE MARE SHFEA 430,000 80,000 350,000
= 30,000
& 400,000
306 £ 3 430,000 80,000 350,000
= 30,000
& 400,000
01 &9 3 430,000 80,000 350,000
OUHMSHMASA SH U L B 430,000
= 30,000
& 400,000
HEas(230=1) 500,000 550,000 250,000




SN 2sta
H: HLBS (25051

&R WRHHXNS (etel: =3
SNBSS - MBAY - BES 01l &4 24 e {imE=Eh

WS Fel DNE=S 500,000 550,000 250,000

El=dEIISLH 500,000 550,000 250,000

2 JI=sdE3 500,000 550,000 A50,000

IPIE=FSE—3=, 500,000 550,000 A 50,000
O=2M=dsllz 8= 500,000

HH2IZHI(250=1) 105,360 97,480 7,880

Jl=3l 105,360 97,480 7,880

E30l=0 Ler2E 105,360 97,480 7,880

201 24| 48,000 44,000 4,000

01 At 22l 48,000 44,000 4,000
O=2stt=d =2 48,000

202 04| 46,560 42,680 3,880

01 2 LHAOHI 46,560 42,680 3,880
SEL T BT 46,560

203 H =&l 10,800 10,800 0

01 J|22d PR 6,600 6,600 0
Oo=& 6,600

04 EXM2EH =L 4,200 4,200 0
O=23stol= 4,200
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